ERM

FER.R6E3/218 (K) BWHYRU=D3T
[l K B Bk | @@ | ZE8h | GR [HDCP|NET| &&=
(25 AW B 44 | 50 o4 |216 (724 | %
2 MT 5 48 | 49 97 (240|730 | %
3 al = 48 | 42 90 (168|732 |*%
4 +_8 Rz |39 | 38 77 |36 |734 |*-BG
5 MmH 5= 44 | 45 89 (156|734 |*%
o6 £H BE 40 | 42 82 (84 |736 |*%
o’ Al = 43 | 44 87 (132|738 |*%
8 BH = 49 | 43 92 (180|740 | %
O A2 # 41 | 44 85 108|742 |%
10 BIE Fi— 47 | 50 97 (228|742 | %
11 BN B—E |46 | 50 o6 |216 |744
12 alll & 42 | 41 83 |84 |746
13 MEB ®%F 47 | 48 O5 |204 (746
14 mi SRl 45 | 46 o1 |156 |754
15 —_K EF 42 | 42 84 |84 |756
16 KEF  FRF 46 | 44 90 (144|756
17 2l & 47 | 49 96 (204 |756
18 Ba DEE 42 | 47 89 132|758
19 BER 40 | 48 88 120|760
20 RN RBR 45 | 48 O3 (168|762 |*%
21 B )& 52 | 53 105 |288 |76.2
22 2K EfT 50 | 53 103 |264 | 766
23 ANB =i 50 | 42 92 (144|776
24 =Y NI i 43 | 55 98 (204 (776
25 /O =8I 50 | B2 102 (240|780
26 Pl —F 49 | 51 100 |216 |784
27 TR BHEE |44 | 53 97 180|790
28 IR A0ZE 49 | 53 102 |228 |79.2
29 Er 8 46 | 49 o5 156|794
30 ==z 49 | 51 100 |204 | 796 | %
31 g B= 57 | 60 117 |31.2 1858
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